
CIRCUITO 1

CIRCUITO 2

S = 3x(1x630) mm2

L=21.110 m; I=286 A

S = 3x(1x240) mm2

L=1.530 m; I=95 A

S01

CIRCUITO 4

CIRCUITO 5

S = 3x(1x400) mm2

L=1.140 m; I=191 A

S02S03

S = 3x(1x630) mm2

L=17.210 m; I=286 A

S17

CIRCUITO 6

CIRCUITO 3

S = 3x(1x630) mm2

L=17.290 m; I=286 A

S = 3x(1x240) mm2

L=3.980 m; I=95 A

S04

S = 3x(1x400) mm2

L=1.810 m; I=191 A

S05S07

S = 3x(1x240) mm2

L=1.300 m; I=95 A

S06

S = 3x(1x400) mm2

L=2.080 m; I=191 A

S08S09

S = 3x(1x630) mm2

L=17.330 m; I=286 A

S = 3x(1x240) mm2

L=2.620 m; I=95 A

S19 S18

S = 3x(1x240) mm2

L=1.920 m; I=95 A

S = 3x(1x630) mm2

L=16.340 m; I=381 A

S13

S = 3x(1x240) mm2

L=1.390 m; I=95 A

S15 S10S11

S = 3x(1x630) mm2

L=1.320 m; I=95 A
S = 3x(1x630) mm2

L=1.610 m; I=191 A

STAZIONE DI TRASFORMAZIONE
                     30/150 kV

Cella L2 Cella L1Cella L4Cella L5 Cella L3Cella L6 Cella TR

S = 3x(1x630) mm2

L=11.740 m; I=381 A

S16

S = 3x(1x240) mm2

L=6.560 m; I=95 A

S20 S14S12

S = 3x(1x240) mm2

L=2.170 m; I=95 A
S = 3x(1x400) mm2

L=6.420 m; I=191 A
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